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1. H. C. Griffith and
O’Meara equal.

3. Allan and
Gillespie equal.

5. Cundle.

6. Symmes,

1. Cundle and

Gillespie equal.

3. Allan.

4. Lee.

5. H. C. Griffith.

6. H. E. H. Dixon and
D. F. Griffith equal.

1. Cundle.

2. Lee.

3. Allan.

4. D. F. Griffith.
5. McMichael.
6. Gillespie.

/. Symmes,

1. Allan.

2. H. C. Griffiith,
3. D. F. Griffith.
4. Carter.

5. Lee.

6. Cundle.

1. Allan. and

H. C. Griffith equal.
3. Lee.
4. D. F. Griffith.

. O'Meara.
2. Lee.
3. Allan,

4, Cundle and

D. F. Griffith equal.
. Symmes,
. Carter,

1. Lee.

2. O’'Meara.

3. Caldecott.

4, Allan,

5. Gillespie.

5. McMichael.

. D. F, Griffith,
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Lee.

. D. F. Griffith.
. Caldecott.

. Carter.

. Stewart.

. McMichael.
9. Carter.

., Stewart,

. Symmes,

. Caldecott.

3. McNaughton.

. H. C. Griffith.
. Dixon.

. Stewart.

. Caldecott.

. Carter.

3. McNaughton.

. Gillespie.
. McNaughton.
. Caldecott.

O’Meara.
Stewart.

. Symmes.
. Caldecott.
. O’Meara.

. H. C. Griffith,
. Gillespie.

10.
11.
12,
13.

McNaughton.
Stewart.
McMichael.
Caldecott.

. Symmes.
. Stewart.
10.
11,
12,

13.

Cundle.

H. C. Griffith.
Carter.
McNaughton,




